
weapon-r.com

Part # 's 959-111-105
Application : 2003-2005 SUBARU WRX

Parts List : 1 X ENGINE DAMPER / 1 X ENGINE MOUNTING BRACKET / 1 X BODY-BRACKET
1 X MOUNTING HARDWARE KIT/ 2 x 12mm replacement bolts/ 2 x 12" 10mm silicone hose

1 Remove the OEM pcv hose, from the hard line.
2 Unclip the 2 OEM wire harnesses located on the braket near the front of the passenger strut tower . ( Pic 1 )
3 Re-clip the 2 OEM harnesses to the other side of the OEM bracket holding them.(PIC 2)
4 Remove the 2x 12mm bolts holding the coolant can to the engine. (PIC 3)
5 Place engine mounting bracket onto 2x 12mm holes on engine. (PIC 4)
6 Using WR supplied 12 mm bolts install bolts to hold down engine mounting bracket and OEM coolant can( PIC 4)
7 Remove the 2 x 10mm bolts located on side inner fender wall.( PIC 5 &6)
8 Place body bracket over inner fender 10mm holes and reinstall 2 x 10mm bolts

to hold bracket to inner fender well. (PIC 7)
9 Install the engine damper kit on the L-bracket, secure with supplied mounting hardware. ( PIC 8 )

10 Install the other end of engine damper onto the engine mounting bracket, secure with supplied hardware. (PIC 9)
11 Adjust length of engine damper to desired length.
12 Replace removed OEM pvc hose from step #4 with WR supplied hose and cut to length
13 Replace 10mm coolant hose on top of coolant tank going to engine , with WR supplied 10mm hose.
14 Installation is complete.

WARNING: DO NOT OVER PRELOAD /TIGHTEN ENGINE DAMPER

Returned Products may be subject to a 25% restocking charge. INSTALLED PRODUCTS ARE NON-REFUNDABLE !
Report any defective or missing parts to the authorized Weapon*R dealer you purchased this product from.
Installation does require some mechanical skills. We recommend a qualified mechanic to install this product.

Other performance products available for this vehicle, for more details please check out our website at :

www.weapon-r.com

http://www.go2pdf.com
http://www.weapon-r.com

